
Time: 10 Minutes Paper Math 8 (T-4) Total Marks: 10

2nd Month, 3rd Week, 4th  Day Exercise: 1.17 Q # (3,4,5)

Q.1. Choose the correct options.   (1x 2 = 2)   

(i) A car travelling at 50km in 70 minutes. The it how will time take to 70

kilometer?

 70  70  70  50 

(a) 2 km  2 (b) 4km  4 (c) 6km  6 (d) 8km  8

(ii) A school boys 8 gallons of juice for 100 kids, how many gallons do they

need fo4 175 kids?

 175  8  100 

(a) 14gallons 14 (b) 12gallons 12 (c) 16gallons 16 (d) 18gallons 18

 Answer the following questions: (6)  
Q.2. A car traveling at 50 km/h makes a journey in 70 minutes. How long will

the journey take at 70 km/h? Also draw is graph.

 70  70  50


Q.3. A bag of 10 kg potatos lasts for a week with a family of 7 people.

Assuming all eat the same amount. How long will the potatoes last if
there are only two in the family? Also draw its graph.

 7  10


Q.4. 5 persons build a house in 600 days and 10 persons build the same house

in 300 days. 

 300  10  600  5

Q.5. 5 workers take 12 days to weed a field. How many days would 6 workers
take to weed it?

 6  12  5
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